HEEED  HRE

1) a*+a—12  (2) 18°+27z+10 (3)
4) 20n%—13n —21 (5) 45a%—67a + 24 (6)
(7) 10z%—59zy +63y*  (8) —3a’+Tab—2b*
1) (@a—3)a+4)=a’+4a —3a—12
=a’+a—12
(2) (62 +5)3z+2)=182%+12x + 152+ 10
=18z%+ 27z +10
(3) (4z+1)3z—5)=12z°—20x +3z—5
=12¢%—172—5
4) (57 —T7)(4n +3)=20m >+ 15n — 28n — 21
=20n%—13n —21
(5) (5a —3)9a —8)=45a%—40a —27a + 24
=450 —67a + 24
6) (7Ta+6b)7a —2b)=49a*—14ab +42ab —12b*
=49a*+28ab —12b*
(7) (22 —9y)(5x —Ty)=10x*— 14xry — 452y + 63y
=10z2—59zy + 63y *
8) (—3a+bla—2b)=—3a’+6ab+ab—2b°
=—3a’+7ab—2b"

9) (4x+8y)<%x+%y>:2x2+3xy+4xy +6y°

122%2—17z =5

49a 2+ 28ab — 12b
9) 2z%4+Tzy+6y?

=222+ Tzy +6y°
(1) z°+14z4+45 (2 a’+1la+24 () z°—4z—12
(4) z%?—5z—24 5) p2+3p—70 6 z:—62—72
7 y +Ty—120 8) z2—122+27 (9) z°—17z+52
10) a?—18a+77 (1) 2= 2 12 42_g-12

6 3
1) (z+9z+5)=z24+(94+5z+9X5
=z24+ 14z +45

(@a+3) a+8=a’+(3+8a+3x%x8

=a’+1la +24
(z—6)z+2)=2’+(—6+2)z+(—6)X2
=z—4z—12
(z—8)z+3)=z*+(—8+3)r+(—8)Xx3
=x%—5xr—24
(p=TIp+10)=p*+(=T7+10)p +(—=7)x 10
=p°+3p—170
(z+6)x—12)=22+(6—12)2+6X(—12)
=z2—62x—72
(y+15)y —8)=y*+(15—8)y + 15X (—8)
=y’+ 7y —120
(z—9)z—3)=22+(—9—3)z+(—9) X (—3)
=22—122 427
(z—4)z—13) =2+ (—4—13)z +(—4) X (—13)
=x%—172+52
(@a—11)a-7=a’+(=11-T)a +(—=11)x(=7)
=a’—18a + 77
oo Emre(3- 23

B+a) —4+a)=(a+3)a—4)
=a’+(3—4)a+3x(—4)

=a’—a—12



